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PROBLEM:

(a) Given that y(t) = x(t) = h(t), find h(t). ht) =

AX(t) A Y(t) = X(t) * h(t)
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(b) If h(t) = u(t), plot y(t) = x(t) % h(t) on the graph on the right. Be sureto label the y(t) axis.

A X LY = x() = h(t) = x(t) = u(t)

(c) Plot y(t) = x(t)[8(t —2) 4+ 5(t — 4)] on the graph on the right.

A X® AYO =XMO[B( —2) +5(t —4)]
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(a) Given that y(t) = z(¢) = h(t), find h(t). h(t) = ol % (¢- Z)

,2(t) WO =z =h(t) = LX (€ ~2)

(c) Plot y(t) = z(¢)}[d(t — 2) + d(t — 4)] on the graph on the right.

32(?) Jy(@) = z(@)[6(t = 2) +6(t — 4)]
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